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33631270 |Unwdwunyw Yuwws 1% 104; Q< hwun 100 10000 100
24311530 |Mbphhnpn 33% 11 < thuip 600 60000 100
24311480 [Ywih wbpdwiqwlwwn 10g q< hwwn 40 4000 100
24311600 |Pnpwppnt 30q < hwwn 25 2500 100
33631260 |3nnh ngbipnipd 5% 304; Q< hwun 200 40000 200 B
24451140 |Upwlubiphy hup N300 qc o 4300 31500 5 |
24451140 |<bpuwlpnu lunwlynie 1) q< hwn 4000 60000 15
24451140 |Lbjynubupn 1) 9< hwuwn 3000 60000 20
24451140  |Unipdbwlipnu 1] ¥4 hwwn 5100 B0 5
24451140 |wplyjum 50% q< hwwn 3000 750000 <0
33691153 |~wnhnuh unybwn 100q o 200 200000 1000 |




24321000 | Enaht q< gpwd 10000 20000 2 N
24320000 |<bdwwnnpuhihu e (hwn 24000 72000 3
24320000 |Shuininghwlwl ubipluynys EA 50 < lhunp 22000 44000 )
24320000 Shmn[nqhwliwh ubpuwniz 0G6 Q< (huip 22000 44000 2
24320000 Shmn[nqhwuuj'u ubipywynyah unuhtia qC thup 125000 25000 0.2
Lhdnu v U bwwiphnd q< 1500 1500 1
24321000 | -MURUWRRYWIA nh Ug
24321440 |[Pwgwluwppnt < (hwn 1500 7500 5
Q< 5000 15000 3
o) Unybnuwihghjwppnt Vel
< d 500 500 1
33691142 |7 OPNINU Gy N
J Qc n 1500 4500 3
24310000 | AMMWLWL pRNL ipunn |
Unwpepent 0.1N10 Q< wnntth 4000 40000 10
24321000
Ugnip-tEnghti Mndwlnguynt Shdqu Q< n 8000 24000 3
oo Hanimtngl quynt Ghdg (hwp
| bk Q< 1500 4500 3
24321220 |TUhinLRhihwiybu dwpnip lhinp
Oduhwuy 350 - 504 Q< hwuwn 7000 350000 50
33210000 ' = o
9 - —
dnpdwiht (Snpdwintihpn 40% -r2) 20- 24 Yq a¢ ™ 500 125000 250
24321000 |[wwpwlbpny
C -nbwlwnhy uwyhinwlynigh npnadwl nbuwn q¢ 105000
33210000 hwywpwdnt wntth 7000 15
rh© (Cntigniu hwiwlwngh wuwnhgbuh npnadwt "
Q< 35000
33210000 nbuwn wnnth 3500 10
rh© (D)nbiqniu hwdwluwpgh wuwnhgbuh npnodwl ac 36000
33210000 nbun wntth 2000 18 1
Uquin fdhpopuhth pwlwlywlwt npnodwt wbun 9¢ | 162000
33210000 hwywpwdnt nnuh 40500 4
Uwihbwdhuwwnpwl ubbipwgh Yhubnpy Q¢ 30000
33210000 Bnwuwyny npnodwt inbiun hwdwpwdnt winuh 3000 10
Q< 90000
33210000 Udhjwgh npnadwl wibun-hwywpwént wnntth 6000 00 15
Utopquliwlwl $nudbnph npnpdwl wtiuwn a¢ 18800
33210000 hwywpwdnt nnuth 9400 2
Uuwywpunwunwdhtiw npwlubipugh Yhubiinpy
< 16100
33210000 Gnwuwlyny npnodwt inbuwn hwywpwdnt nnih 2300 7
UOT T T WU T Oy Tu T U U U S G TUT T
UninphdGinphy Gnwbwyny npngdwt nbuwn Q< 75000
33210000 hwywpwédni winuh 5000 15
Upjwu rh nk hwd
Mwb ra ntgns hwdwluwpgh wuwhgbuh Gc 60000
33210000 : npnadwl inbuwn und. 3000 20
23211190 Unjw fudph (1) npngdwt nbuwn Or( upy. 1200 21000 20
33211190 Upyw fudph (1) npnodwt inbuwn i und, 1200 36000 30
33211200 Upjwt fudph (I1) npnodwl nbuwn Or< uny. 1200 24000 20
33211200 Upywu fudph (1) npnodwt inbun i upy. 1200 S 30
q< 30000
33211220 Upywt fudph (IV) npnodwt inbumn uny. 2000 15




. Q< 225000
33211280 ﬂnmgt;unqh npn2dwl wbun-hwywpwsnt (RB-50) wnintth 15000 15
Gwddw qynunwdhy mpwhuﬂ:b[?wqh npnadwl ac 17000
33210000 nbun-hwywpwdni50ml winuth 8500 2
Q< 150000
33211120 Syniingh npnadwl nbuwn-hwwpwsdnt 1 wnintth 5000 30
9¢ 22500 -
33210000 Enqhgiphnubiph npnodwl whun hwywpwsnt wnnith 4500 5
Q< 14000
33210000 BnYweh npngdwl wnbuwn hwwpwdnt 2 winuh 14000 1
Cunhwunip U ninhn phihnniphts inbuwn ac 40000
33210000 hwdwpwdnt wintth 5000 8
Cunhwunip uyhwnwynigh npnadwt wbuwn ac 8000
33210000 hwywpwdn 2 wintth 4000 2
D’Ur}hwUmn Shnnpuhth pwbwlhwlwl npnodwl ac¢ 160000 \
33210000 wnbun hwywpwdn wnuth 32000 5
Cunhwunip Lnibunbiphth  npnodwt nbuwn 9¢ 60000
33210000 | hwjwpwdni winith 6000 10 |
f&pt{tujhp Prudwunwgh npnadwti nbun ac 15000
33210000 | hwjwpwdnt 2 nnith 15000 1
Q< 36000
33210000 fFhdnjwhli Udnwh  npnodwt b wnntth 4500 8
fGhpbnunpny hnpdnup pwbwlwlwu  npnodwl ac 174000
33210000 nbun hwdwpwdnt wnntth 29000 6
fapndpnwjwunhth  ibuwn hwywpwdnt THR - ac 164000
33211310 120 (6x4ml) ninuh 11500 16
Lwpinwwnnbhhnpngbuwgh npnodwt wbun ac 9000
33210000 hwwpwéni /hbinnily/ winuh 4500 i 2
LJmmbh‘Ungnq hnpdnup pwtwlwywl npnodwl ac 84000
33210000 wbuwn-hwjwpwdnt nnih 42000 2
TUHUTTT T[T U aermoTans o PrieumionTdy - T
hwpnighsh Uwwndwdp 1gG hwluwdwnpdhvubiph Qc 160000
33210000 npnadwl wnbuwn hwywpwsdnt wnintth 40000 4
fupwdpnpwih hwpnighgh Lywindwdp 1gG ac 160000
33210000 hwlwdwpdhuubph npnodwl inbun hwywpwdni wnth 40000 4
funphnupy gnuwnnnpnwhtuh pwuwhwluwl ac 47500
33210000 npndwl wbiun hwywpwdni 1 tintth 47500 i ]
q< 1920
33211290 Ywihnwh  npnodwt nbiun hwjwpwént 1 wnnth 12000 92000 16
q< 100
33211300 Ywighnwh  npnodwl inbuwn hwywpwdn 1 nnuh 5000 80000 16
. 9
33211160 Ypbwwinhbpth npnpdwl nbun hwlwpwdni 1 < wintth 3000 50000 10
Ynk ulhu
pEwwnhuyhbwq whumpynipiul npnadwl wbuwn ac 24000
33211160 hwywpwdni unntth 12000 2
< b u-0 dwlt ]
wlwunpbywnnihgh npnadw inbiun ac 10000
33210000 hwywpwéni winuh 2500 4
<hwwwhwin A Yhpnwh Uywindwdp igM
Q< 30000
33210000 | hwhwdwpdhtubph npnodwu tinbunh hwwpwdnt wnth 30000 I
twwenhin B yppnwh dwlpbuwht wiinhgbup . y o ]
33211320 npndwb inbunp hwywpuwdni winth 14000 1
Lbwuwiinhun T JRpawh tYuwndwdpTgG
hwlwdwpdhuubph  npnodwit nkiuwnh Qg 120000
33210000 hwywpwdnt wnnih 40000 S
Chduwihu $nubninwgh Yhtutnpy Enwuwyny ac 210
33210000 npn2dwl nbun hwywpwdnt nnuh 3500 1000 6
33210000 Uwqubighnwh  npnodwt wbun hwywpwént 2 < wnntth 7500 45000 6
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Utigh dbg qyningh, wpjw, uwhwnwlnigh, pH,
Ytinntiubiph, nbuwlwpuwn Yonh, Uhwphwnutiph, ale 30000
LElinghliutiph, ninnphihungblih L phihnniphih '
33211110 npn2dwl whuwnuinphuubiph hwywpwdnt tnnuh 5000 6
G 20000
33211170 Uhquppyh npnotwy nbuwn hwywpwdn2 wnnith 5000 4
Uhquitjniph (Uhquitynysh wqnwh} npnadwl ac 96000
33211150 tnbuwn hwdwpwdne wintth 8000 12
< 80000
33211150 Uhquujnieh  npnadw inbun hwwpwéntl wnintth 8000 ’ 10
Q< 50000
33210000 Uhlnwwgdwih npn2dwl inbuwn hwwpwdnt nnuh 50000 1 _J
Q< 50000 .
33210000 Gwpwph wiunnpnadwt phupunphy GlucoPlus hwin 10000 5
Mpnwlwhup - pwliwluwlwy npnadwl tbuwn ac 20000 j
33210000 hwwpwént wnntth 35000 2
Mpnuinwin uwbigh$hy hwlwgblh pwtiwlwlwl G¢ 210000
33211330 npn2dwt nbun hwydwpwdne wnnith 42000 5
MHudwwnnprwghu $wlinnpubiph npnpdw wbuin Q¢ 60000
33211240 hwywpwént wninih 6000 10
33211230 Uh$ihuh npnodwts wbun hwwpwdnt < nnth 12000 120000 10
Stuwnnuwnbipnup pwlwlwlwl npnodwl nbun 9¢ 96000
33210000 hwdwpwdn ninuth 48000 2
Snpunuyjjwqdngh hwnnighsh Uwindwdp IgG ac 60000
33210000 hwywdwpdhtutbph npnodwl inbuwn hwywpwdne tnnuth 20000 3
Snpunuyjwqungh hwpnighsh Ujwindwdp IgM ac 60000
33210000 hwywdwpdhutbph npnauwl wbun hwdwpwdnt wnith 20000 8 |
Sphynnunhpnuhup pwbwlwhwu  npnodwl nbun ac 64000 ’ |
33210000 hwywpwdni 2 nnith 32000 2
SNNUGGWNOR AU GqWnIwoR 186 T e T_ — ‘1
hwqwdwndflhhbnh pwlwlwlwy npnodwt inbun q¢ 45000
33210000 : : hwywpwdnt ninuh 45000 1
Linphnubiph Ynugbunpwghwgh npnodwl wbun a¢ 8500
33210000 hwywpwdn. wnuh 8500 - I
33211130 |enibuntinhtp HDL buunwgtny nbwghtn < wnuth 4000 20000 5
33211130 |enjuntiphth LDL buuwgling nbwghin < nnuth 8000 40000 5
Snitiyny fupwunn hnpdnth pwbwlwlwi G¢ 88000
33210000  |npnodwl inbun hwywpwdni wnnth 44000 2
fdhpnginpnuhup ulwindwdp hwlwdwpdhuubph ac 56000
FSZlOOOO npnonul hwuwn 56000 |
33200000 | Ugqnuhpud nhurljunjy) < huwtn 2500 125000 50
33140000  |mjmuhnhw wtnhghih npnptwl hwyjwpwény < hwun 23000 92000 4 J
Ppmghinujuyn Bhun 30 Ptuwy/ Brucelloslide-Test 9<¢ o 300000 i
33211280 |/30 test/ 15000 20
Mipbw-UpghERGTin 2 winqubiul)/CUrea-arginine.
33140000 - [LYO-2 broth < hwn 62000 248000 4
33691139 [pduyhl funulnip 101 Q< hwn 5310 2389500 450
33691139 |Yhwnpnhwmppilp funwiynip 50% 1*10; Q< hwwn 14000 840000 60
dhpphlingktth npntwG wbun- hwlwpwéni Start 4 ac 136000
33210000  |FIBRINOGEN-PREST 480 tests (Stago) hwn 34,000 ! 4
LbnwywunhG CJ MNiniu,  nbuwn- B
hwjwpwéni Start 4 Q< 130000
3210000  [Neoplastin Ci plus 5, 300 tests (Stago) hwwn 26,000 5
NSSU wjuindwn  npndw( hwywpwéniStart 4 9¢ 110000
3210000 |PTTa 1200 tests (Stago) hwun 22000 5 |
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@pndphl dwiwlwy nbuwn- hwlwpwéniStart 4 qc 130000
33210000  |STA Thrombin 240 Tests (Stago) hwiwn 26000 5
Uni Calibrator 6x1m!
q< 6000
33210000  [(Stago)Start 4 whwihquwnph hwiwp hwwn 60000 ¢ 1
Unlunpng htgnily, 2 dwlwpnul,12x2x1 uy Coag ac 118900
33210000 |Control .Start 4 w Gwihquunph hwdwp hwuwn 118900 1
33210000 |Uwppnn nidnyp < e PIO0R 24000 ,
33210000  |2withhy jmdnyp < nnuh 89000 178000 5 L
33210000  [PULwpn biEYunpnihun unnighs < hwwn 81000 31000 )
T ElEYwnpnn NESLpkuu q< hwwn 121000 242000 2
i Eltywnpnn 'Uu}unnhmd q< hwin 147000 294000 2
Eilupnn Q< hwtn 171000 342000 2
33210000
Gywnpnn Gwhn < h 92000 184000 2
33210000 & ! nnn ih wn
b d qC '
T ElGYwnpnn Yuighn hwwn 93000 166000 2
L dh ki u ubp 1259 <
33210000 | ~UMPNWh Eiynpnnh Yntunhghnbin 1250 huwn 16000 32000 2
33210000 _[STA CaCL2, 24x15 ). Start 4 wwihquinnph huuwp A hwn 42030 42030 L |
STA OWREN KOLLER, 24x15 dj:Start 4 ac 47150
33210000  |wlwihquinnph hwdwp hwwn 47150 1
FINNTIPS 2,50ML (X100) Start 4 wlwihquunph
33210000  |hwdwp RES hustn e 241900 ]
33210000 |Flacon 1850 balls Start 4 wlwihquinnph hwiswp < hwun 75850 151700 2
33210000 |Barrettes cuvettes 150X4 Start 4 w Gwihquunpp hwdwp o hwtn 73000 292000 4
cobas ¢111 F£hihpnipht
bihomgk < 70000
33211140 |mnnquyh npnpdwl phiup hwywpwidnt hwn 35000 2
cobas ¢111 Phihpnipht
e < 75000
33211140 |pnhwlinip npnaiwl phup hujupusnt hwn 25000 3
cobas ¢111 unjkunbphp
33211130  |npnpdwh mbun hwjwpusn < hwn 24000 72000 .
cobas c111 Spljlql_hghphm
33210000 |npnouwh nkun hwupwsn < hwtn 20000 20000 :
cobas ¢111 HDL npnpuw |
. Q<L 40000 '
33210000 |wntiun hwjupwdnm hwin 40000 1
cobas ¢111 LDL npnauwh B
33210000 [wbuwn huijwpudn *< hwun 63000 63000 ,
Cobas c111 ' Upluwnhihh
33210000 |nnn2dwh phiup huupwsny a< huin S 140000 s
cobas ¢c111 Qynilnqu ]
33211120 [npn2dwl phup hwqupusn < hwn 20000 100000 5
cobas c111 Uhquiymp
33211150  |npn20wil piup hwywpwsny < hwin 16000 64000 4
cobas ¢111 UiwGha
33210000 _ [WdhGnunpwibudbpwquh npnoswpbun- < huien o 28000 )
~ |cobas ¢111 quufu-
33210000 _ |qununudy wpwhubbpuqu npnaswl phu < 12000
P hwwn 12000 1

- 1
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Cobas c111 HbA1c
33210000  [NPN20wl phiup huduipwsnt ik hwtn 124000 124000
Cobas c111 Yphuwwnpt ac 28000
33210000 _[yhtiwqu npnpdwl phup hujwpudn hwuwn 28000
: cobas ¢111 L2 npna0wl pbup
- |33210000  |hwupudn i hwn 11000 i
1 cobas c111 Zhutwghly ,
'-jr- 33210000  |bnudwinuiqui npnzSwh phup hudupudn A Ao 17000 34000
! cobas c111 Uuyjuipuun Q¢ 42000
33210000 |wihnunpwludbnwquh npnpdwiptun- hwuwn 14000
cobas -f:‘l 11 ! Uuhjuqu Q¢ 72000
33210000 _|pughwlinip npnzdwl phup hujwpusnt hwin 36000
cobas ¢111 | Ujpnidht G¢ 26000
33210000 |pimhwbinip npndwb pbup hujwpudnt hwun 26000 ‘
cobas c111 Cunhwimp o S0
33210000 _|uwyhwulnigh npnadwil phup hwywmpwdnt hwtn 25000
cobas ¢c111 CRP
33210000 |pwhwlwlwb npnygwh pGUp hunjupwdny ¥ hwn 100000 200000
cobas ¢111 CFAS
33210000 _|Ywthenuinnn’ phophupulut whunhqubph huswp| < hun | 37000 | 37000
. cobas c111 CFAS HbA1c
33210000 _|Ywihppwionp’ phaphuhuwlyu wlijhqibph hwowp| — ¥€ hwtn 62000 e
: cobas c111 CFAS protein
33210000  |Ywihpnwinnn® phophihulmt whbwghqutph hwdwnp| — F< hwn 130000 130000
cobas ¢111 CFAS Lipid
33210000 _|Yuwihpnwiinn’ phphdhwluh whughqikph hwswp| — F< huwin 19000 19000
cobas'¢111 nlunpn 1]
33210000  [stf Unuin 1 i B b hwtn 161000 161000
cobas ¢c111 \nbwipn u
33210000  [skU Unijinh 2 e *< hwtn 161000 161000
e cobas c111 Cleaner q< huwitn 18000 72000
Lqwgnn hmmy hhuught punyph Ynpwu U111
33210000  [wlwihquinnph hwdwp < hwwn 18000 1000
Activator for Cobas c111 9x12 mi Unpwiu hinnbgpu q<c 39000
33210000 |b Ynpwu U111 whwihquuinpukph hwdwp hwun 39000 1
ISE Deproteinizer:Unpuiu c111 whwihquuinpp }
33210000  [hwiwp < huwn 9000 45000 | s |
Unpuu U111 wlwihquwnnph hwdup 1 |
33210000 |NACI 9% Diluent e hutn 17000 17000 [
hknihquging nhwgbunUnpuu U111 T _!
33210000  |wlOwihquinnph hwdwn LS hwn 41000 41000
cobas ¢111 ' DrEwlghnt
33210000  |lpniftintiiph hwjwpusnt & huwitn 63000 p15000
33210000 |cobas ¢111 cobas sample cup K hwn 56000 56000
Cobas e 411 Elecsys 2010 Elkjupu
']-lih}lrlpnl:u;]lmhqnumhpn‘u»umb'i)mm pwlwlwlwi Q< 88000
33210000 _ [npniw( inbuwn-hwwpwént hwun 88000
Cobas e 411 Elecsys 2010 Eijupu
33210000 r}hhllr}p-nhq]uuhr}numl;pnh-umﬁ)mm Yuwihppunnp < huitn 29000 29000
Cobas e 411 Elecsys 2010 Eitufpu
33210000  [Skunnuntpnis Pwlwywywh npnrdwh nbuwn- oS hww 82000 82000
Cobas e 411 Elecsys 2010 Eluhu
33210000  |Skunnuwnkpnh Ywihppunanp Q< huwn 29000 29000 |
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Cobas e 411 Elecsys 2010 Ejljuhu
dnityniy fupwling hnpdnGh pwlwlwywa npn0wb 9< 58000
' 133210000 nbun-hwywpwén, huwn 58000 1
Cobas e 411 Elecsys 2010 Elkuhu
J 33210000 [dnibynyg fupwlinn hnpdng hm]jlppmmnp W< hwuwn 34000 34000 1
Cobas e 411 Elecsys 2010 Bikufu
; ulpﬁlmllmph hnponGh pwlwywlwa npnyswa QC 74000
133210000 wbuw-hwywpwént hwun 74000 {
Cobas e 411 Elecsys 2010 Eikluhu e ‘*» ’ 34000
33210000 |wpnjulunht juhppunnnp hwtn 34000 f i J
Cobas e 411 Elecsys 2010 Eiqupu ! 77000
33210000 _|unnhnGhy gnGwnniipnwhtGh pwbiwlwlw huwtn 77000 1
Cobas e 411 Elecsys 2010 Ekyupu G¢ 29000
33210000 _ [lunphnGhl gnGwnnunpnwhtp Yuihppunnnp huwin 29000 1
Cobas e 411 Elecsys 2010 Elkhupu
Snpunuwjwadnuh Ghuwnswip G hwlwiwnshGhepp Q< 97000
33210000 pwlwlwlws npnytwa phun-hwjwpwént hwwn 97000 !
Cobas e 411 Elecsys 2010 EikYuhua Gc 75000 —‘
33210000 |wpkuhlninnpng Snpunujiwqinu IgG hwn 75000 ) 1
Cobas e 411 Elecsys 2010 EiEhuhu .
33210000 _|Snpunujiwqanuh Gwniwde M hwlwowpshoaenn| — *< hwn | 17000 | 17000 ]
Cobas e 411 Elecsys 2010 EjEljuhu . -
qC 90500
33210000  (wypkuhyntunpny Snpunwjwaqinu IgM I .l__hﬂm_ 90500 | | ;
Cobas e 411 Elecsys 2010 Eltjuhu ’ | '
Shwndbquindhpniup GUwwndwip G Q< 7 142000
33210000 |hwlwiwnshGGtnh Pwlwlwlwh npnytwh phuw- hwwn 142000
Cobas e 411 (Elecsys 2010 Ekluju 9¢ 71000
33210000 _|wpkuhyatunging Shundliquiinihpniu IgG hwin 71000
Cobas e 411 Elecsys 2010 Ekluhu
Shmndbqwmqhnmuh Oywwndwip M qc 172000
33210000 [hwhwdwnohGhbpp Pwlhwhwlwh npnytwh phun- hwn 172000
Cobas e 411 Elecsys 2010 EiEluhu 9< 86000
33210000 |wpbuhyntunpn; Shundtiquniyhpniy IgM hwn 86000
Cobas e 411 Elecsys 2010 EiEhuhu
Mpnunwin uwbghdhl hulwqkth pwlwlwlw < 204000
‘33210000 nNn20wk ptuwn-hwwpuwisnt huwtn 102000
Cobas e 411 Elecsys 2010 Eikluhu
33210000 | Mipnuwnwin uwkigh$hl hwlwgbGh Yuyhppunnnp *< hwtn 34000 4000
Cobas e 411 Elecsys 2010 EEuhu G¢ 116000
33210000 _[wquin phpopuhlih pwiwlwlw npnz0wh pbuwn- hwtn 58000
Cobas e 411 Elecsys 2010 Brtiljuhu
33210000  |wquwin phpnpuhlh Jupppwinnp *< hwtn 34000 14000
Cobas e 411 Elecsys 2010 LiEjuhu
33210000  |LintintihGugling hnpinGh pwlwlwlwe npnyswa S hwn 58000 28000
Cobas e 411 Elecsys 2010 Eiupu
q< 34000
3210000 |LyniinbihGugGnn hnpdnGh uhppuiang hwn 34000
Cobas e 411 Elecsys 2010 Eikjuhu
3210000 |@hpbnunpny hnpiinth pwlwlwlws npn20w < hww 58000 174000
Cobas e 411 Elecsys 2010 LiEYuhu
Q< 68000
3210000 _|@hptinupnuy hnpdntp Yuihppunnp hwn 34000
Cobas e 411 Elecsys 2010 BiEYuhu
3210000 _ [Adwipwliltiph pwnglibnh CA 125 whwnhqbliGh +< hwin 136000 & 1
Cobas e 411 Elecsys 2010 Elklupa .
210000 |4wpwilGlinh pwnglitinh CA 125 wiinhqka < husen S 29000 |
Cobas e 411 Elecsys 2010 Eikuhu _—(
Iwlwphnn Gpnpuhnuw hwlwiswnohaat '
pwgwl?ﬂﬂ;i:g %ngdfuﬁgbﬁur;-hwﬂwgw{mrs f ¥ 206000 {
210000 hwin 103000 2
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Cobas e 411 Elecsys 2010 ElEjuhu
Hwhwphnnhn wbpnpuhnwah hwlwowndhGhtph Q< 29000
33210000 |Ywihppunanp hwwn 29000 1
‘ k
Cobas e 411 Elecsys 2010 Eliuhu 4¢ 103000
33210000 _|Shntnginpnt|hGh Wywuwdp hwlwiwpdhGatph hwwn 103000 ]
Cobas e 411 Elecsys 2010 EliYuhu ke 26000
33210000 [Shpknginpnihlh Wjwundwdp hwlwiwndhaaEph hwwn 29000 ‘ 1
Cobas e 411 Elecsys 2010 Biijuhu -
i Q< 63000
/|33210000 _|@hnopuhlh pwlwyuwilwl npngdwG phutn- hwn 63000 1
_ Cobas e 411 Elecsys 2010 Erbjuhu 4¢ 34000
33210000  [[@hpopuhlh Ywihppunnp hwn 34000 T
Cobas e 411 Elecsys 2010 NI Qc 27000
33210000 |wphuhyntunpm niihdkpuuy hwuwn 27000 1
- Cobas e 411 Elecsys 2010 Eikupu ac 50000
33210000 |wphuhlntnpng nipmigpuyhb dwplykp hwn 50000 1
Cobas e 411 Elecsys 2010 Eikjuhu ac 1500
¢ [33210000 wnwwwnn uhuljihl huwin 1500 1
Cobas e 411 Elecsys 2010 ElEQupu a¢ 30000
+ [33210000  |uhuiny hwwn 6000 5
F Cobas e 411 Elecsys 2010 EiEupu Lnibhg qc 42000
(33210000 unijunp : huwtn 420000 7 | 1
; Cobas e 411 Elecsys 2010 Eituhu |
: < 18000
- 133210000 Lni6hy nibhybpuuy hwtn 18000 1 A‘
f Cobas e 411 Elecsys 2010 E1Ejuhu ISE 9c¢ 25000
¢ 133210000 [uhulyihG hwn 25000 1
; Cobas e 411 E(ecsys 2010 Ejkluhu ac 112000
133210000 upypnlynidtiinGhip hwn 56000 2
Cobas e 411 Elecsys 2010 Eijuhu .
9Q 116000
33210000 _ |suypwnhpGtp < hwwn 58000 ’ 2
Cobas e 411 Elecsys 2010 Eiiluphu -
r 155000
33210000 |ujhtiuty i huwin 31000 19900 5
': Cobas e 411 Elecsys 2010 bikluhu .
= 1350
33210000 [Mpnuty ¥< huwun 27000| 139000 5 |
" [Cobas e 411 Elecsys 2010 Erhijuhu q T
<
33210000 _|"iPfubYntnnpng Thyro Ab-h hwn 116000 41
Cobas e 411 Elecsys 2010 Elijuhu 9¢ 93000
33210000 _|yphuhlyninpn; quphw hwuwn 93000| L 1T J
Cobas e 411 Elecsys 2010 Liklupu FT3 .
wquun nphyngphpathth pwbwlwiwh  npnsw Q< 58650 58650 1
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